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The terminal side of @ in standard Cyadaly o pulid g B O daghll ¢lgiiy) o

position contains the point (—6,8). .sec sl .(—6,8) dil)
Find sec#.
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cos 6 = % and 270° < 6 < 360" 270° < 0 < 360" 3 cos O = §
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Solve the equation Cos 8 = 0.56. wfl ) uR.Cosf = 0.56 il Ja
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sin90 cos30° — cos 90 sin30". .sin90° cos 30" — cos 90" sin 30"
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tan? @(cot?8 — cos?8)?
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the x-axis?
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The design has exactly 1 line of symmetry.

The design has exactly 4 lines of symmetry.

The design has exactly 3 lines of symmetry.

The design has exactly 2 lines of symmetry.
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triangle AABC?
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Simplify sec 8 tan?0 + sec 8. .sec @tan’8 + sec ail iy

0:58 AM

L Type here to search O B B m» E 9 O @ 2Csumy A@ZmE e oy B



W = x

B viewer | SwiftAssess x +
& C A Notsecure | 10.111.192.25 Q@ v » 0@ :
19514 ¢ -9 9 cEHOSEB A-2022-2021- Sl il Juaidll il Glatel - Slual Jl- sle11iiuall —

O X'(—3,0)
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